Chapter 1: large deviations in Geomer's regime

Outline 1) First observations

- 2) (comen's theorem
- 3) Behavior under the conditional law
- 4) Local estimates and the local central limit theorem

In probability theory, many theorems concern "Expical events", which have probability & or tending to one harge deviations concern "atypical events" whose probability tends to O. Typical greation then are: • How fast is the convergence (rate of decay)?

• Given this at ypical event, what are hypical events of the system under the conditional low? For example, if you release at ETH a capybone who wendows at random, is it goes to facio and then back to ETH, what will be its typical path?

Here we focus on the case of nondom welks. Let
$$(X_n)_{n\geq 1}$$
 be its R-valued r.v. with $E E X_1^2] < \infty$
Set $S_n = X_1 + \dots + X_n$. We know that $\frac{S_n}{n} \xrightarrow{as}_{n\geq \infty} E E X_2 and \frac{S_n - n E E X_1^2}{\sqrt{n \sqrt{a(X_n)}}} \xrightarrow{(A)}_{n \geq \infty} N(0_1 2)$

mes "Typically the deviations of Sn around NETKI] are of order Vn"
But for fixed a G B, what can use say about
$$D(Sn > an)$$
, $D'(Sn = an)$?
local probability
What can use say about $(S_{1,...,}S_n)$ conditionally given ξ Sn > an ξ or ξ Sn = an ξ ?
(when these events have >0 probability).

1) First absenventions

We first focus on $\mathcal{B}(S_n > an)$. Clearly, be the central limit theorem, writing $\mathcal{B}(S_n > an) = \mathcal{B}(\frac{S_n - \mathbb{E}[X_n]n}{\sqrt{n}} > a - \mathbb{E}[X_n] = \mathcal{B}(\frac{S_n - \mathbb{E}[X_n]n}{\sqrt{n}} > a - \mathbb{E}[X_n])$ we have $\mathcal{B}(S_n > an) \longrightarrow \mathcal{L}$ if $a < \mathbb{E}[X_n]$.

Now answer that as EEX.]
Assume that x, is N(0,1). Then Sn⁶ N(0,1) and for aso:

$$B(S_n > na) = \frac{1}{(1\pi)} \int_{arg}^{\infty} e^{-y^{3/2}} dy \sim \frac{1}{(1\pi)^n} e^{-na^{3/2}}$$
, so $B(S_n > na) = e^{-na^2 + c(n)}$.
A similar computation shows that $V = 29$ $B(S_n \in (a_{n,2n} + n^{4})) \xrightarrow{n \to 0} B(S_n > a_{n1})$,
which above that for $B(\cdot | S_n > a_n)$, So is of order an
 $IB(S_{n,2a}) \in (0,1)$, then $B(S_n > a_n) \Rightarrow B(X_1 > e_{n-1}, X_n > a) = B(X_1 > a)^n$,
so $B(S_n > a_n)$ cannot decay faster then exponentially.
A symmer that $-X_1 \stackrel{(a)}{=} X_1$, that X, has obsisty and $B(X_1 > x) \ge c2^{-d}$ for some s, d>0. Then
 $B(S_n > a_n) \ge B(X_n > a_n) B(S_{n-1} > 0) \ge c(a_n)^{-d} \cdot \frac{1}{2}$
Thus $B(S_n > a_n)$ does not decay exponentially fast.
 $If B(X_1 > x) \sim exp(-ix)$ the same holds (and X, has finite moments of all orders)
(only moments it is not doings true that $B(S_n > a_n)$ decays exponentially fast.

Assumptions X_1 is not constant and $\forall t \in \mathbb{R}$, $M(t) = \mathbb{E}[e^{tX_1}] < \infty$. (34) I Gramer condition]

Me shall see that B(Sn) an) decays exponentially fast for ∉[Xi] < a < sup Support Xi (Support Xi is the smallest closed set FCR such that B(Xi EF)=2, in pachicular B(Sn > an)=0 for a> sup Support Xi).

The matri idea (tool is "exponential kilting": by (1) for every $\partial \in \mathbb{B}$ we can counder a real X_2^{0} with law given by $\# [f(X_1^{0})] = \# [f(X_1)] \frac{\partial X_1}{M(0)} \int for first measurable$

Observe that for all 0>0, X, satisfies Gremen's condition

 $\begin{array}{l} & & \text{Set}(X_{i}^{a})_{i;i} \text{ be ind end set } S_{n}^{a} = X_{i}^{a} + \dots + X_{n}^{a}. \text{ By definition one has:} \\ & & \text{Proposition For i to meanwable,} \\ & & \text{E}\left[8(X_{i}^{a},\dots,X_{n}^{a})\right] = \underbrace{\text{H}\left[8(X_{i},\dots,X_{n}) \stackrel{\text{definition one has:}}{\mathbb{H}\left[8\right]^{n}} \text{ and } \text{H}\left[8(X_{i},\dots,X_{n})\right] = M\left[0\right]^{n} \oplus \mathbb{E}\left[s(X_{i}^{a},\dots,X_{n}) \stackrel{\text{definition one has:}}{\mathbb{H}\left[8\right]^{n}}\right] \end{array}$

In particular,
$$P(S_n > a_n) = M(0)^n \notin [1_{S_n^0 > a_n} e^{-\theta S_n^0}]$$

Theorem (Cramer) Fix $a \in (\text{HEX}_1]$, sup Support(X1)). Thre exists $\theta(a) > 0$ such that $\text{HETX}_1^{\theta(a)} = a$, and $B(S_n > a_n) = e^{-I(a_n + o(n))}$ with $I(a) = \theta(a)a - \ln H(\theta(a))$

<u>Intuition</u>: the optimal strategy to achieve Sn) an is that "each X; contributes a little bit" and "fills itself a little lit" in order to favor taking larger values. e^{I(a)} represents in some same the "cost" of thus fill for every 5, so e^{I(a)} is the lotal cast

We first check the existence of
$$\theta(a)$$
. For $t \in \mathbb{R}$ sot $L(t) = \ln M(t) = \ln E e^{tX_1}$
Observe that $L'(t) = \frac{H'(t)}{M(t)} = \frac{E I \times_1 e^{tX_1}}{M(t)}$, so $E I \times_1^{\theta} = \frac{E I \times_1 e^{\theta \times_1}}{M(\theta)} = L^2(\theta)$
End of lecture 1

$$\frac{\text{Service L is convex}}{(\Lambda + \text{the log of a convex function is not always convex, for example x^2)}$$

$$\frac{\int \cos f_{1} de}{L(p t_{1} + (1-p) t_{2})} = ln \mathbb{E}\left[\left(e^{t_{1} \times t_{1}}\right)^{p}\left(e^{t_{2} \times t_{1}}\right)^{p}\right] \leq ln \mathbb{E}\left[e^{t_{1} \times t_{1}}\right]^{p} + \left[e^{t_{2} \times t_{2}}\right]^{p} = p^{2(t_{1})} + (1-p)L(t_{2})$$

Proof of existence of
$$\theta(a)$$
: Counder $\theta(\theta) = a\theta - L(\theta)$. We have $\theta(0) = 0$, θ is continuous and limits $\theta < 0$.
Indeed, take $a < b < sup support X_1$. Then
 $M(\theta) > \text{EE}[e^{0X_2} 1_{X>b}] > e^{0} \theta(X_1>b) = 0$, $L(\theta) > \delta b + \ln \theta(\theta > b)$
Thus $\theta(\theta) \leq \theta(a - b + \ln \theta(X > b))$
 $< 0 \text{ for } \theta \text{ sufficiently large}$
Thus, spince θ is concave, letting $\theta(a)$ be the point where θ reaches it supremum, we get $\theta^2(\theta(a)) = 0$,
which gives $L'(\theta(a)) = a$.

Remark The previous proof shows that $I(a) = g(\theta(a)) = \sup_{\theta > 0} (a\theta - L(\theta))$, which in particular implies that I is increasing.

 \frown

End of the poor of the theorem $\begin{array}{l} \underbrace{U_{ppon} \ bound} : \operatorname{Just} \ withe \ B(S_n > an) = B(e^{\operatorname{prov} S_n} > e^{\operatorname{prod} en}) \leq e^{-\operatorname{prod} en} \ H(O(e) = e^{-\operatorname{h}(H(B(a)))} \\ \underbrace{L_{owen} \ bound} : Uning \ the proposition, write (with <math>\theta = \theta(a)$ to simplify notation) $\begin{array}{l} B(S_n > an) = \operatorname{H}(\theta)^n \ EE \ 1_{S_n^n > en} \ e^{-\theta S_n^n} \\ \Rightarrow \ M(\theta)^n \ EE \ 1_{en < S_n^n} < an + \operatorname{tri} e^{-\theta} \\ \Rightarrow \ M(\theta)^n \ e^{\theta(en - \theta \operatorname{tri})} \ B(an < S_n^0 < en + \operatorname{tri}) \\ \end{array}$ But $\operatorname{EE} X_1^{\theta} = a \ and \ EE(X_1^{\theta})^2] < \infty$, so $B(en < S_n^0 < en + \operatorname{tri})$ converges to a >0 number as $n \to \infty$. $\begin{array}{l} T_{hus} \ M(\theta)^n \ e^{-\theta an} - \theta \operatorname{tri} \\ \end{array}$

Examples: When
$$\chi_1 \sim N(0, 0)$$
, $I(e) = \frac{e^2}{2}$ for $a \neq 0$
. When $B(\chi_1 = 1) = B(\chi_1 = -1) = \frac{1}{2}$, $I(a) = \frac{1+a}{2} \ln(1+a) + \frac{1-a}{2} \ln(1-a)$ for $o < a < 1$.

3) Behavior under the conditional law (also celled "Gibbs conditioning principle" in physics) We beep the assumption X, not constant, HER EEEXIS < a condition the EEXIS < a < sup Support X. What is the "typical" behavior of (S1,--, Sn) given B(-(Sn>ne)?

Theorem (Folklore) Under the same assumptions as Graner's theorem, for every ED, B(max | $\frac{S_{R-ak}}{n} | > \varepsilon | S_n > an) \longrightarrow 0$.

Narun up: let us show that
$$B\left(\frac{S_n}{n} > a + \epsilon \mid S_n > a_n\right) \xrightarrow{n \to \infty} 0$$
. We may assume that $a + \epsilon < sup Supert x$
This probability is $\frac{B(S_n > (a + \epsilon)n)}{B(S_n > a_n)} = \exp\left(-\left(\operatorname{I}(a + \epsilon) - \operatorname{I}(a)\right)n + o(n)\right)$

But I is increasing, so I (etc) - I (e) >0 and we get the result.

$$\frac{\sum_{k=1}^{N} \sum_{k=1}^{N} \sum_$$

First Without low of generality we may assume that ET[Y_1]=0. Take
$$\lambda > 0$$

 $(W_R)_{R>0}$ is a mathematical with $e^{\lambda r}$ is convex. Two $(e^{\lambda r})_{R>0}$ is a submatingal, and back's maximal inequality gives for every $\lambda > 0$:
 $\mathbb{P}(\max_{0 \le k \le n} W_R \ge n) = \mathbb{P}(\max_{0 \le k \le n} e^{\lambda n}] \le e^{\epsilon i n} \mathbb{E}[e^{nk}] = e^{i n(e - \frac{e_R}{2} + \frac{E_R}{2})}$
Since $\frac{M \mathbb{E}[e^{\lambda m_1}]}{\lambda} \rightarrow \frac{1}{\lambda} \ln \mathbb{E}[e^{\lambda m_1}]_{1\lambda_0} = \mathbb{E}[\nu_1] \ge 0$, we can draw $\lambda > 0$ such that $\varepsilon - \frac{e_R}{2} + \frac{E_R}{2} > 0$.
One similarly gets the result for $\mathbb{E}(\max_{0 \le k \le n} V_R \le -\varepsilon n)$ by coundary -We.
 $\mathbb{P}[\cos f \ of \ he \ Heorem$ So $\theta = \theta(c)$
Write $\mathbb{E}(\max_{0 \le k \le n} \left[\frac{S_{k-n}R}{n}\right] \ge \epsilon_1 S_R > 0$, $n) = H(0)^k \mathbb{E}[\lim_{0 \le k \le n} \left[\frac{S_{k-n}R}{n}\right] > \epsilon\right)$
Thus by (numers) theorem $\mathbb{P}(\max_{0 \le k \le n} \left[\frac{S_{k-n}R}{n}\right] > \epsilon[S_{k-n}R] = \mathbb{P}(S_{k-n}R) = \mathbb{P}(\max_{0 \le k \le n} \left[\frac{S_{k-n}R}{n}\right] > \epsilon) e^{c(n)}$
and the result follows from the lemma (applied with $Y_1 = X_1^{\theta}$).
Gend of Lecture 2

0

S

4) Local estimates and the local central limit theorem

Our goal is now to study enalogous questions when " $S_n > en''$ is replaced with " $S_n = en''$ Since this event can be empty, we need some additional assumptions.

 $\frac{\text{Definition}}{\text{Definition}} \text{ A real-valued random variable X is called lattice if there exist <math>b \in \mathbb{R}$ and h > 0 with $\mathcal{O}(X \in b + hZ) = 1$ The largest such h is called the span of X (we will see below that it is well defined) If the span is I then X is called aperiodic

Example If
$$\mathcal{P}(X=1) = \mathcal{P}(X=-1) = \frac{1}{2}$$
, then X has spen 2

$$\frac{\int e^{ixt}}{(1) \times ix} e^{ixt} = \frac{R}{2t} e^{ixt} \int e^{ixt} \int e^{ixt} \int e^{ixt} e^{ixt} \int e^{i$$

$$\frac{\Pr(\alpha)}{n} = \frac{\Pr(X \in b + hZ) = 1}{n} \text{ then } \mathbb{B}\left(\frac{X - b}{h} \in Z\right), \text{ so } \mathbb{E}\left[e^{2\pi i T} - \frac{1}{h}\right] = 1 \text{ and } \left[\mathbb{E}\left[e^{2\pi i T} - \frac{1}{h}\right] = \frac{1}{h} + \frac{1}{h}\right] = 1$$

$$(\text{onversely, if } |\phi(t_0)| = 1 \text{ for } t_0 \neq 0, \text{ there is } a \in \mathbb{R} \text{ such that } \phi(t_0) = e^{a}. \text{ Then } \mathbb{E}\left[e^{i(t_0 \times -a)}\right] = 1$$

$$\text{Thue, } \mathbb{E}\left[\cos(t_0 \times -a)\right] = 1. \text{ since } \cos \leq 1, \text{ this implies a.s. } \cos(t_0 \times -a) = 1.$$

$$\text{Thues } a.s. \quad t_0 \times -ee^{2\pi i Z}, \text{ so } \mathbb{P}\left(X \in \frac{a}{t_0} + \frac{2\pi}{t_0}Z\right) = 1$$

$$(2) \text{ The proof of } (1) \text{ shows } \text{ that } \exists b \in \mathbb{R} \text{ and } h > 0 \text{ st } \mathbb{P}\left(X \in b + hZ\right) = 1$$

$$i \leq \left[\phi\left(\frac{1\pi}{h}\right)\right] = 1, \text{ which extrails } \text{ the result.}$$

Examples • IS
$$B(X=\pm 1) = \frac{1}{2}$$
, $p(t) = cost$ and $lp(t) = 1$ for $t \in T \ge 7$
• IS $X \sim N(0, 1)$, $p(t) = e^{\frac{t^2}{2}}$ and $lp(t) < 1$ for $t \neq 0$.

Theorem (had autod had theorem) had
$$(X_{1,j} \in \mathcal{U} = peristic ranken uniables with adves in Z. Assume
that BIXIJ < 0. Set $m \in \mathbb{R}[X_1]$ and $\sigma^2 = \mathbb{E}[X_1] - \mathbb{E}[X_1]^2$. Assume 3 no. Set $S_m = X_1 + \cdot X_m$
Then map $| \forall x \mathbb{P}[S_m = k] - \frac{1}{\sqrt{2\pi\sigma^2}} \exp\left(-\frac{1}{2}\left(\frac{k-mn}{\sigma\sqrt{n}}\right)^2\right) \Big|_{m \to m} = 0$
REZ
We will first explore some consequences and point this later.
In practice, we after write $\mathbb{P}(S_m = k) = \frac{1}{\sqrt{2\pi\sigma^2}n} = \frac{1}{2\left(\frac{k-mn}{\sigma\sqrt{n}}\right)^2} + \frac{\mathcal{E}(k,n)}{\sqrt{n}}$
with my let(k,n) write $\mathbb{P}(S_m = k) = \frac{1}{\sqrt{2\pi\sigma^2}n} = \frac{1}{\sqrt{n}} + \frac{\mathcal{E}(k,n)}{\sqrt{n}}$
REZ
As a consequence:
(collear Under the same assumptions, when $\mathbb{E}[X_1] = 0$:
(1) $\mathbb{P}(S_n = 0) = \sqrt{\frac{1}{\sqrt{2\pi\sigma^2}}} + \frac{1}{\sqrt{n}}$
(2) $\exists \odot_n + x_1 = \alpha$ expresses of 2 relations with $\frac{N_m}{\sqrt{2}\sqrt{n}} + \frac{1}{\sqrt{n}} \mathbb{E}(S_n = x_1) + \frac{1}{\sqrt{n}} + \frac{1}{\sqrt{n}}$
(3) $\mathbb{T}[S_n]$ is a sequence of 2 relation the control limit theorem (corr) to play a view $\mathbb{E}[X_1] = 0$.
 $\mathbb{P}(n_m k)$. The local control limit theorem (scor) to play be the control limit theorem (corr): to employ assume $\mathbb{E}[X_1] = 0$. $\mathbb{E}(S_n = k) = \sum_{n=m}^{n} \mathbb{E}(S_n = k) = \sum_{n=m}^{n} \mathbb{E}(S_n = 1, n = m)$
 $\mathbb{E}(a < \frac{1}{\sigma n} < b > 1 = 0$ then $\mathbb{E}(S_n = k) = \sum_{n=m}^{n} \mathbb{E}(S_n = k) = \sum_{n=m}^{n} \mathbb{E}(S_n = 1, n = m)$
 $\mathbb{E}(S_n = 1, n = m)$ (1) $\mathbb{E}(S_n = k) = \sum_{n=m}^{n} \mathbb{E}(S_n = 1, n = m)$
 $\mathbb{E}(S_n = 1, n = m)$ (1) $\mathbb{E}(S_n = k) = \sum_{n=m}^{n} \mathbb{E}(S_n = 1, n = m)$
 $\mathbb{E}(S_n = 1, n = m)$ (1) $\mathbb{E}(S_n = k) = \sum_{n=m}^{n} \mathbb{E}(S_n = 1, n = m)$
 $\mathbb{E}(S_n = 1, n = m)$ (1) $\mathbb{E}(S_n = 1, n = m)$
 $\mathbb{E}(S_n = 1, n = m)$ (1) $\mathbb{E}(S_n = k) = \sum_{n=m}^{n} \mathbb{E}(S_n = 1, n = m)$
 $\mathbb{E}(S_n = 1, n = m)$ (1) $\mathbb{E}(S_n = 1, n = m)$
 $\mathbb{E}(S_n = 1, n = m)$ (1) $\mathbb{E}(S_n = 1, n = m)$
 $\mathbb{E}(S_n = 1, n = m)$ (1) $\mathbb{E}(S_n = 1, n = m)$ (1) $\mathbb{E}(S_n = 1, n = m)$
 $\mathbb{E}(S_n = 1, n = m)$ (1) $\mathbb{E}(S_n = 1, n = m)$
 $\mathbb{E}(S_n = 1, n = m)$ (1) $\mathbb{E}(S_n = 1, n = m)$
 $\mathbb{E}(S_n = 1, n = m)$ (1) $\mathbb{E}(S_n = 1, n = m)$
 $\mathbb{E}(S_n = 1, n = m)$ (1) $\mathbb{E}(S_n = 1, n = m)$$$

Here we result the very worful trick of writing a sum as an integral:
$$\sum_{k=0}^{\infty} d_k = \int_0^{\infty} a_{kx} d_k$$
.
Set us now turn to the study of large devicesions in a local setting.
Theorem Assume that x, satisfies Gramma's condition, and is Z-valued aperiodic. Fix ef(ETXi), the Separtx).
det (2n) be a sequence of integers s.t. $x_n = a_n + o(\sqrt{n})$ (for example $x_n = Lans)$.
Recall that 8(a) vectorem such that $L'(0(a)) = a_n with $L(t) = ln \notin [e^{tX_1}]$. During the lattice this theorem was
Then $\mathcal{D}(S_n = x_n) \sim M(0(n)) \stackrel{o}{=} e^{-2(n)x_n}$ (incorrectly stated with $x_n + \frac{n}{2} \rightarrow a$ (we adjudy used $x_n = a_n + o(\sqrt{n})$)
Remaile that have use have an asymptotic equivalent (and that $M(0(a))^n = e^{-2(n)n}$, but
 $e^{9(a)a_n}$ in general)
Pread As before, set $\theta = \theta(a)$ and write
 $\mathbb{P}(S_n = x_n) = M(0)^n \oplus \mathbb{E}[1_{S_n^n = x_n} = e^{-9x_n} \mathbb{E}(S_n^n = x_n))$
So the LCLT $\mathbb{E}(S_n^n = x_n - 1) \sim \frac{1}{(x_n \vee x_n(x_n^n))^n}$$

End of lecture 3

We now study the behavior render the conditional probability
theorem Under the same assumptions and votation as the previous theorem,
for every EDD,
$$\mathbb{R}(\max_{\substack{0 \le k \le n}} | \frac{S_{R-ek}}{n} | \ge \varepsilon | S_n = \varepsilon_n) \xrightarrow{\longrightarrow} 0$$
.

Theorem Under the same assumptions and version as the provins theorem, for every
$$k \ge 0$$
 and
 $k \le 1, -j, k \in \mathbb{Z}$, $B(X_1 \ge i_1, -, -, X_R \ge i_R | S_R \ge a_R) \xrightarrow{0.1}_{(N-2)} B(X_1 \ge i_1) \xrightarrow{0.1}_{($

F

-

since
$$\mathbb{E}[e^{itsn}] = \sum e^{itj} \mathbb{P}(s_n = j]$$
, we have $\mathbb{P}(s_n = k) = \frac{1}{2\pi} \int_{-\pi}^{\pi} e^{itk} \mathbb{E}[e^{itsn}] dt$
 $= \frac{1}{2\pi} \int_{-\pi}^{\pi} e^{itk} \phi(t)^k dt$ for $k \in \mathbb{Z}$ -mn

Thus, for use B with up out + an
$$\in \mathbb{Z}$$
, or the $\mathbb{P}(S_n \ge u + \overline{n}) = \frac{1}{14} \int_{-\pi}^{\pi + \overline{n}} \frac{1}{16} \int_{-\pi + \overline{n}}^{\pi + \overline{n}} \frac{1}{1$

For I2 We first check that
$$\exists \varepsilon > 0$$
 s.t $|\langle \psi(t) \rangle| \leq \exp\left(-\frac{t^2}{4}\sigma^2\right)$ for $|t| \leq \varepsilon$.
By (4), $|\langle \psi(t) \rangle|^2 = \langle |t| \langle \psi(t) \rangle = \left(1 - \frac{t^2}{2}\sigma^2 + t^2\eta(t^2)\right)\left(1 - \frac{t^2}{2}\sigma^2 + t^2\eta(t^2)\right)$
 $= 1 - \sigma^2 t^2 + o(t^2)$

Thus
$$|\varphi(t)| = 1 - \frac{e^2}{2} e^2 + o(t^2)$$

State $\exp(-\frac{t^2}{2}e^2) = 1 - \frac{e^2}{2}e^2 + o(t^2)$ we get (474%)
Then, for $(1156) = 1E_0| \leq 2 \int_A^\infty e^{i(t)} (e^{-\frac{t^2}{2}e^2}) dt \leq 2 \int_A^\infty e^{-\frac{t^2}{2}4} dt \leq e^2$
 $\left[\frac{\text{For } I_3|}{\text{For } I_3|} B_3| approximation a that,$
 $IS_3| \leq 2 \int_A^\infty e^{i(t)} e^{-i(t)} dt \leq 2\pi \pi \sin^2 e^{i(t)} \leq e^2 \int_A^\infty e^{-\frac{t^2}{2}4} dt = e^2 \int_A^\infty e^{-\frac{t^2}{2}4} dt$